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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
' own words as far as practicable.

1. Answer any ten questions: el 00
- wift eesw T mie ¢ '

a) In what sense does the conclusion of a valid

deductive argument follow from its premises?
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b)  Define non-exclusive disjuction with exémple.
TR HRCANS SN SAr-3 I8! 718 |

c) Distinguish between tautology and self- _

contradictory proposition.
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Reduce the following sentences into standard

form categorical proposition:

GEIGIRCE rﬁ@ﬁ«wwam@ﬁ@w

- Only ahandful of Indian students are scientists.

< AR SIS =g R |

Represent the following in Boolean equation

and Venn diagram :
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There are honest politicians.
A AT SR |

'Symbolize the f(v)lllowing using variable,

quantifier etc.:

a{12, Wiﬁﬁwwﬁﬁ%@"wﬁw
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All rich persons are not educated and cultural.
e 4 s Mfrs @ scgloaE =2 41|

Express the following in equivalent normal

form formula: -
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Mention with examples any two criteria of ~
appraising analogical arguments.
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What is the difference between material
equivalence and logical equivalence?

Teofs STidel @ (e T g oA e
Give the contrépositive of the following: |
fAxferiie aoaba swiafEe et wis ¢

Some S is not non-P ‘

What is meant by necessary condition of an

event‘7
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If ~po~(q-r) is false then determine the truth

value of the following: :

i ~po~(q-1) P2 o FfeiRie oA
~(p-a)=~(p>q)

Why the .'predicate term of a negative

~ categorical proposition is alwéys distributed?

o TR LP ST IS [T A7 3771 i 21 2

What is existential fallacy?
mf@w T IS AT 2
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What is propositional function?

oS 2

Answer any four questions: 5x4=20
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What is existential ir_nport'? Explain with
example.
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State, after Copi, Mills method of agreement.

I Sl A et ol AR @

i) Determine by truth table method,

whether the following is a tautology:

sepada Awfes e fufae
eI FoTey e fefa v ¢

(poa)=[(pva)=d]
ii). Use a truth table method to test the

validity of the following argument form :

sreEd safer e FefRe e
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What kind of sentence can be get by denying a

self-contradictory sentence? Explain with

example.

aﬁwzﬁmmﬁtﬂawﬁswmm
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Explain with example ‘the principle of

Existential Generalisation.
i TP T ORI 7R Tt |

Explain in brief, the apriori theory of
probability.
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~ Answer any two questions: 10x2=20
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Test the validity of the following arguments
by using Venn d1agram 55
corfbras Ry EfRo zﬁ@ﬁﬁ [SEORERE
¥d3
i)  All things which are inflammable are
" unsafe. So, all things that are safe are
non-explosive, since all explosives are
Jo) inflammable things.
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ii) Straight lines are not curved lines.

Straight lines are the sides of triangles.

: So- the sides of triangles are not curved
lines.
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Construct formal proof of validity for each of

the following arguments: 5+5
PR JReefm wRvers (el el 4 2
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(L- J) =]
i) (x)(Ix>Jx)

(3x)(Ix- ~ Ix)

~(x)(x oK)

Prove the invalidity of thé following
arguments by assigning truth values :  5+5
MG Sl EREIREEITIRS {%@WWW

o199 3
i)y X=sy>Dz

y=(-x-2)
z=(xv~y)
Y
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ii) Only lawyers and politicians are
members. Some members are not college
graduates. So, some lawyers are not

college graduates.

@RETHIE SZAGI @R A AR 740 |
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~Calculate the probability of the following

events : SEY

CEGRCRITIGERISENROE KRS E

i)  What is the probability of rolling two

dices so that the total number of the
points, that appear on their top faces will
be 97
WOB! SICO R BRI Wi TeeT SItrs S (FloI
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ii) What is the probability of getting at least
one and at most one head in tossing three
coins? - :
ouIfs U 5o 0T Tgws «ﬂwaﬂa\wz@s ;
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